
Page 1 of 12 A4281ADE00 DRAFT REV 21/03/17

Part No. A4281ADE00

45 Minutes

KIA Carens 2013 -



INSTALLATION INSTRUCTION - Towbar (A4281ADE00)

Page 2 of 12

Typ nr. KIA69B
D-value

Max. vertical weight 75 kg
Model year 2013 "
Model name KIA Carens

Towbar EEC approval nr.: E13*55R00*55R01*3623

//

8,9 kN

SK

Zozn
am

die
lo

v

1x M8 2x Ø8,4x16x1,6

2x Ø8

1x

1x

1x

6x M10x1,25x35
1x M8x30

6x Ø10,5x25x4

4x A4x12

Ø 4 mm



Page 3 of 12

Fig 1

Fig 3

Fig 2

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

1x SW10

3x



Page 4 of 12

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 6

Fig 4

Fig 5

1

2

1

2

2013 - 2016



Page 5 of 12

Fig 9

Fig 7

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 8

2016 - 408

400

Ø20 Ø20



1.
1.

2. 2.2. 2. 2.

1.

6x 10,5x25x4Ø
6x M10x1,25x35

Page 6 of 12

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 10

Fig 11

1.

M10x1,25 = 52 Nm

1.

2. 2.2. 2.

2.1.

Fig 12



Page 7 of 12

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 13

Fig 14

M10x1,25 = 52 Nm

Fig 15



Ø 4 mm

Page 8 of 12

Fig 16

Fig 18

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 17

4 x

3x



Page 9 of 12

Fig 19

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 20

Fig 21



Page 10 of 12

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 24

+ max 55 kg=
max. 3

Kg

Fig 23

Fig 22

3KS2-K33KS2-K
3



Page 11 of 12

INSTALLATION INSTRUCTION - Towbar ( )A4281ADE00

Fig 25

M10x1,25 = 52 Nm

Fig 26



INSTALLATION INSTRUCTION - Towbar (A4281ADE00)

Page 12 of 12

3
6

2
3

R
P

  
?
?
?
?
?
  
?
?
?
?
?
?


